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[¥R) Szxz—t=uwlt=x—u,iK

F(x) = JO (x—w) fwdu = xJ: f(u)du—J: wf (w)du.
HTF (x>0, f(x) HiEhhg, BHERER 2 € (0, +0), f(x) > £(0) =0. \if:
F'o) = [ fdu™ 0,F(x) ££00, + o) Pyt

X F'(x) = f(x) > 0,k F(x) #EC0, +o0) PIMIK .
5.D
G#ERY  »F (0 5 £ s EE e, 2005 —8 & € (a,b),f#if%
2B — @ _2f@f® _ f©®
2(b) — ft(a) 2f(& f (& (&

4 i gl TS Figr = y
B (&) + f(&) = 0, ] i) 1, i o) — ) 1, PG5

@) — f1b) = f2(b) — f*(a).

1.GERRY R (o) RMERIFEBH (@) = fOO) ,MBLHE—S c € (a,b),fli5
‘ f) # fQa) = fb).
# (o) > f(@,MEELa,c] b fCx) WhRPAR B H 85 B85 A, A 2= DA — a5
£ € (a o) C (a,b) fHi1d

f’(e) ;&>O

(o) < fla) = f(b), WHE[c,b] b0 FHPLAS B H {8 2 B AT 50, 2B FFAE— i
g€ (c,b) C (a,b),filifs

f(E) M>O

2% L Pl i EAIE.

GEEY AR o] S A e B, MBS Vo € (a,0) A f (2 <0, T f(2)
PR HIA F(a) = f(2) = £, fla) = fB) A f(a) = f(x) = f(b), B} f(2)
PR XS BETFE .

2.GERAY  1EMiBIERE F(2) = f(2) — x, | 0 < f(x) << 1,48 F©) = £(0) > 0, i
F(D) = f(1) —1 << 0, M U5 %2k s BN H 2 BRAITE (0, 1D WEDFFAE— R &1 F(&) =0, B]

O —-&=0.

I T B UE Y U E— P

BO< 11 < 73 <1, B flx:) = 71, f(x2) = 32,8 F(x;) = F(x;) = 0.

B R EBMELE 20 € (x1,22) C (0,1 flif] F'(x0) = 0,8 f'(x) = 1,:X 58

)

—




